
AMAT 220: Linear Algebra, Spring 2012 Quiz # 7, February 21

Name: . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(a) How many rows and columns must a matrix A have in order to define a linear transformation

T : R7 → R3 by the rule T (x) = Ax ?

Rows = . . . . . . . . .

Columns = . . . . . . . . .

(b) Find the standard matrix of the linear transformation T : R2 → R4 such that:

T

([
1
0

])
=


3
1
3
1

 and T

([
0
1

])
=


−5
2
0
0

 .

(c) Find the standard matrix of the linear transformation T : R3 → R2 such that:

T

x1

x2

x3

 =

[
x1 − 5x2 + 4x3

x2 − 6x3

]
.
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